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Risolvi le seguenti equivalenze.

39,73 a = ................... ha

0,03691 km³ = ................... dam³

0,4534 dm³ = ................... mm³

2,022 l = ................... ml

224,9 mm² = ................... cm²

140,6 ca = ................... ha

3031 cm³ = ................... m³

36380 cm³ = ................... m³

2,146 l = ................... ml

0,2861 dal = ................... ml

3,282 hl = ................... l

21030 cm³ = ................... m³

36140 dam² = ................... km²

0,243 dal = ................... cl

3,082 hm³ = ................... m³

0,4384 hl = ................... cl

1,558 dam = ................... cm

405,9 g = ................... dg

0,3112 dam = ................... dm

272,4 dl = ................... hl
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0,4797 ha = ................... ca

1088 dm = ................... hm

35,2 dg = ................... Hg

234300 mm³ = ................... dm³

37470 ca = ................... ha

39,88 a = ................... ha

49,22 a = ................... ha

0,002981 hm³ = ................... m³

2,487 Mg = ................... Hg

47550 ca = ................... ha
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Soluzioni

39,73 a = 0,3973 ha

0,03691 km³ = 36910 dam³

0,4534 dm³ = 453400 mm³

2,022 l = 2022 ml

224,9 mm² = 2,249 cm²

140,6 ca = 0,01406 ha

3031 cm³ = 0,003031 m³

36380 cm³ = 0,03638 m³

2,146 l = 2146 ml

0,2861 dal = 2861 ml

3,282 hl = 328,2 l

21030 cm³ = 0,02103 m³

36140 dam² = 3,614 km²

0,243 dal = 243 cl

3,082 hm³ = 3082000 m³

0,4384 hl = 4384 cl

1,558 dam = 1558 cm

405,9 g = 4059 dg

0,3112 dam = 31,12 dm

272,4 dl = 0,2724 hl

0,4797 ha = 4797 ca
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1088 dm = 1,088 hm

35,2 dg = 0,0352 Hg

234300 mm³ = 0,2343 dm³

37470 ca = 3,747 ha

39,88 a = 0,3988 ha

49,22 a = 0,4922 ha

0,002981 hm³ = 2981 m³

2,487 Mg = 248,7 Hg

47550 ca = 4,755 ha


